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ec”‘ms We are a class apart
uestions are compulsory.

(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief-
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Mendel took tall pea plants and short pea plants and produced F, progeny through
cross-fertilisation. What did Mendel observe in the F, progeny ?

AN (J9 719) % FeFal o A9 [RaT | 1

Name two constituents of biogas.

e o FIISTehd] HIT1 | TR G BId & | e b8 TehR % AN ST Hehal & 3T
FAT 7 T AfTeRi 1 T g ferfau | 2

Carbon has four electrons in its valence shell. Which type of compounds can be

formed by carbon atom and why ? Give any one example of such compounds.

COEPTEN S RCADERY = ™

P FE We are a ‘class’ apart...

(a) U I W B T e

(b) T (It 3AMI)

(c) Tertht uftrer =t 3o

(d) Hsfehet =relr 2

Different parts of brain are associated with specific functions. Name the part of
human brain which perform the following functions :

(a) Sensation of feeling full

(b) Vomiting

(c) Picking up a pencil

(d) Riding a bicycle
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An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the
position and nature of the image. Draw a ray diagram to show the formation of image
in this case.

< At arferfoRa
MnO, + 4HCl — MnCl, +2H,0 + Cl,
(a) U 38 i o1 T forfaw fgept (i) 3w=rmA, (ii) STT=FH 83T § |
(b) = IR R IT=AT TR AT=I <ht g ferfgu | 3
In the reaction :
MnO, + 4HCI — MnCl, + 2H,0 + Cl,

(a) Name the compound (i) oxidised, (i1) reduced.
(b) Define oxidation and reduction on its basis.

foret Taem 3R I TEAell H 1g 319 IfEad FAEse ekl 380 2 mL 915 TewR]eh
31 Temen e 2 | 9l St 19 o1 aieT Ueet I it fefewd o3 3TR iRt o1mg, et
Toteww vz gr fomen T B, 1 390 9 forg wotor § foten® w6 U1 ° gt B ? 3T
IR o fofw e €S | 3cafia e & foaw & wrm frsed freprett S wehar 8 7 3109 S

“B)COEPan's ACADEMY

. We area class apart...

(a) &b ﬁéﬁmmaﬂwﬁﬂﬁwwﬁamﬁ?ﬁuﬁ&mw%ﬁmﬁ
T SfehTT T3S & T W ATkt HIST 3TN HLd! &, 1 I8 heh o TG i bl ThR
FHTfed T TR T ?

(b) SfHT TS T AfehTT TS | foh TohR ufiafcla fpam Srar 2 2

(c) heh I GEATIH 3T TI=fl I ST § 7

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc.

sulphuric acid is added to it. If the gas evolved is tested first with dry and then with

wet blue litmus paper, in which case will the litmus paper change colour ? Give
reason for your answer. What inference can be drawn about the nature of the evolved
gas ? Support your answer with chemical equation for the reaction.

OR

(a) For the preparation of cakes, baking powder is used. If at home your mother
uses baking soda instead of baking powder, how will it affect the taste of the
cake and why ?

(b) How is baking soda be converted into baking powder ?
(c)  What makes the cake soft and spongy ?
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What happens when hydrogen is added to a vegetable oil in the presence of nickel ?
Name the reaction and write one difference between the physical property of the
vegetable oil and the product obtained in this reaction. Write the role of nickel in this
reaction.

TETAdH h8 had & ? TS § ol 1eY Sl ATHifhd 3TRG Wiaeht YHTcH TecaTadH
3TN HUITcH ToedTad SISy |

What is geotropism ? Draw a labelled diagram of a potted plant showing positive
geotropism and negative geotropism.

IuTfSid @0 fh2 ad 8 7 A v amIa: el fifedt & Sengma s € A ¢
R ST |

What are acquired traits ? Why are these traits generally not inherited over
generations ? Explain.

& TorHl Al Al SSTCTT o1 WHT |ISS 1 3ol Niora Sarell § 4 m gl T ferd foreft

SR Rians AGADEMY

(b) ' aﬁqﬁwaﬁwﬁaﬁqﬁ}%%@?w&%@wr@
AT =Ry ?
(c) 39 YhUoT | gfdfers a1 21+ o fofu wmwifend foptor 3 it |
Al

5 cm 31 H1g o 15 cm B gl < fopHl It U1 % | 30 em g8t W fer@ 2 |
T 9ot Wiafers & fexrfa, asst 3t wehfa sma i |

We wish to obtain an equal sized inverted image of a candle flame on a screen kept at
distance of 4 m from the candle flame.

(a) Name the type of lens that should be used.
(b) What should be the focal length of the lens and at what distance from the candle
flame the lens be placed.
(c) Draw alabelled diagram to show the image formation in this case.
OR
A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal
length 15 cm. Find the position, size and nature of the image formed.
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Consider the following circuit :

A=
89 1o 120
\_/

@) COEPian's ACADEMY"

We are a|'class’ apart...

6
HHHH=—)
What would be the readings of the ammeter and the voltmeter when key is closed ?
Give reason to justify your answers.

OR
What is electrical resistivity ? Derive its SI unit. In a series electrical circuit
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the
length of the wire is doubled, how will the current in the circuit change ? Justify your
answer.

st & gd A fafeRaa it w1 ST w &1 $o @9 aiefad Shife Safes
frm R vl ww gfe F w6002 |

(i) 1000 W = ferget gtex fdfe 5 &ie

(i) 400 W 1 forera Thisie gfdfe 10 92

Calculate the total cost of running the following electrical devices in the month of
September, if the rate of 1 unit of electricity is ¥ 6.00.

(1)  Electric heater of 1000 W for 5 hours daily.
(i1)  Electric refrigerator of 400 W for 10 hours daily.
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(a) efep Sfam | utcfefia 3TR werfeesh s W 0 R fohat ST =nfae 2
(b) BT I U e ¥ g 39 ¥ S fohe yehR feharm B 2
(c) 3T Fw=ra i TheTt o fTT BT A Th-gER i fopd o Wit foram &m ¢

While teaching the chapter “Our Environment” the teacher stressed upon the harmful

effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive

use of plastic and polythene in daily life, which can be avoided and the surroundings

can be kept clean They decided to make their school “plastic and polythene” free and
1_mmum se.

should e use of poawne and [&Q éuced n M Y

We are a ‘class’ apart...
(b) In what ways the students would have avoided the use of plastic and polythene

in their school ?

(c) How the students would have motivated each other for the success of their

decision ?

“SITep [cieh TETEHT ShT FUIYA YS=E” A1 8 ? Ig 1 SARAH & 7 G0 I GH:3TAT
T ¥ 31 fohd TN 3T Y 7

What is “Sustainable Management of Natural Resources” ? Why is it necessary ?

Which one out of reuse and recycle, would you practise in your daily life and why ?
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(a) TIfcThT o &9 H I H T UM hl Gt 15T [k 3MIR W a1q3ii 311
AT b s =R feharT ST B |

(b) R I S A g9 o g U faIRau | 5

(a) List in tabular form any three chemical properties on the basis of which metals
and non-metals are differentiated.

(b) State two ways to prevent the rusting of iron.

319 IT 1 8 L gU MY 3TTad TR H foheft T § a1d § ¢ S 9 dwall b
= T 7T qureEt shi Sef St e i -

(a) TASThar § T (qftadH)
(b) wET-Freen o ufteda

(c) wfcres O 3erfeeres eteIor
(d)  TorEIa FUTTcHhdT-&To

T bl =
COEPian’s ACADEMY
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(b) TUSTIE I STTEd TR 3T Q ITATSHAT <h! A ST |
(c) 3 Tonedi &1 Deui b aeht srTgT el Hugefis % 3trard e ol i & |

Explain giving justification the trends in the following properties of elements, on
moving from left to right in a period, in the Modern periodic Table.

(a) Variation of valency.
(b) Change of atomic radius.
(c) Metallic to non-metallic character.
(d) Electronegative character.
(e) Nature of oxides.
OR
(a) What was the basis of Mandel&ev’s classification of elements ?
(b) List two achievements of Mandel&ev’s periodic tables.
(c) List any two observations which posed a challenge to Mandel€ev’s periodic

law.
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(a)
(b)
(c)
(d)

(a)

(b)
(a)
(b)
(©)
(d)

(a)

(b)

(a)

(b)

(a)

(b)

ffe § TeehISt o ST forgue & | g aett tffsre w1 gt fofa |
Tfort & St § vae <hl ik fafem |
FFHY T IUFErd e et @1 1 919 faflgu | 36es < St <hi =it SIS |
Tt 3 verE Fufeh w1 A 37 gEeh! Tk yfient ferRam |

3T

T UTedl | 9T S 9Tl 9t Y gfshan o wehR w1 a1 fafge sk sEeht smen
Hifsre | 38 ufshan & T smawas w=t ammft fofae qeon ufrn &1 qamfes
Ffientot €T |

39 fshan B g1 areft v genatt 1 Seor@ Hifv |

Write the reaction that occurs when glucose breaks down anaerobically in

yeast.
Write the mechanism by which fishes breath in water.
Na e balloon likes structures present in lungs. List its two functions. -,

e G el v S Mool M Y

OR We are a ‘class’ apart...
Name the process and explain the type of nutrition found in green plants. List
the raw materials required for this process. Give chemical equation for the

mentioned process.

Write three events that occur during this process.

ferfirrar @ R ? fenelt gwfy o fafirrar for wepr Scum Bt 8 7 foreht wiiefist o
3cq ferfer=ran 3ot Sashifadn 4 foha yehR wgTereh 3t 8 7

ST ST foh TifTeh S ot aTet Sftall § Seh T Fafd § UrgE sh T 99T
e JhR s et B 2

What is variation ? How is variation created in a population ? How does the
creation of variation in a species promote survival ?
Explain how, offspring and parents of organisms reproducing sexually have the

same number of chromosomes.
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(a) - IEAT TR ? 31 SRV FARGT | SHehT T fohe TR fopart STt @ 7
(b) FATCH % TvF G AW I TG BT 8 7 ATHIhd TRG i FEEA d =TS
AT |

(a) What is presbyopia ? State its cause. How is it corrected ?

(b) Why does the Sun appear reddish early in the morning ? Explain with the help
of a labelled diagram.

(a) TEEhRT & @IS 1 BIcht § 7 & T@IaT 1 IWANT i grachid & # feheft feg
T & S femm foret Sk 31T ShY STt & 2

(b) & JATHR Freferal <X° 3 Y’ Th-g o foehe Tt § | AfE Pueett X # forga
T § ufterd foharm S, at o pueelt <Y H ig e gfa gt 7 swror e |

(c) “wifEi o1 gféur g forerm ferfiam |

(a) What are magnetic field lines ? How is the direction of magnetic field at a point
in a magnetic field determined using field lines ?

co gecl,ainms 1 inlthel cdil ‘Y’ ? Give

redson We are a ‘class’ apart...

(b

(©)

leming’s right hand rule”.

-«

Section — B

foreft feremerar <t SrewTRITeTT & “ETEF 6 I I HAR AT g A § OICH IS &l
T LI B o ToTT 3R TS T THAT ITAH &I & | et bl hR §M o oI it o
et H ST | i 91 SGU1 STl ST Tehal & 7 SN | |G hl G615 §Hal shi gor
H H A R 7

In the laboratory of a school, the sample of hard water is not available “to study the
comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt

from the laboratory can be added to tap water to make it hard ? In the experiment

how is cleaning capacity of soap compared ?
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Toreht feremmera <6t SRITTRITETT © BT 3 TN g THTSH ST o TUILHT ol 3T L 1§
& | 3 Rl 37t el o1 wiieqvT foRe ok ot Tkt & 7 &1 we ferfiae |

In a school laboratory the students are studying the properties of ethanoic acid

through certain experiments. How can they test its acidic nature ? Give two tests.

I i ITATYT H HTeH STFITFITES oh IceTSi hl T i o TAN hl TR Sawer
%1 THITRA 3T i |

Draw a labelled diagram of the experimental set up for the study of liberation of
carbon dioxide gas during respiration.

e T S @3 o fore 3t shm 3 3w difa |

Draw diagrams showing reproduction in yeast in proper sequence.

F R e e e et
St o fereprerg f | 21 ) T AL JiepL i fere i & e
31 2, 1 T ST e 3R /1 36 e o 2 R 7

CDE]

15 cm ®i%hE gl o Iq F gRI oF | 25 cm g8 X Terd fepelt forrat b1 wicferrar siemm
T o e qrifend fortor s difem | =fe fara o1 @1 4 om 7, @ Sldfara <1 @mgs
Frerifa <Hifvw |

While tracing the path of a ray of light passing through a reactangular glass slab a
student tabulated his observations. If in his experiment for two readings he takes two
values of Zi as 40 ° and 50°, what should be the correct values of Ze and Zr in each

case ?
OR

Draw a labelled ray diagram for the formation of image by a convex lens of focal
length 15 cm when the object is placed at a distance of 25 cm from the lens.
Determine the size of the image formed, if size of the object is 4 cm.
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3Taeh uTe e < it Tt § -

3T (0-1A), AeeH (0-3V), 20 Q T YfeRieh, Fit, g =, 3V 6 Je qen
7 TS AR | 39 AT 1 IUANT b fohell feiiges & yafed fogga o (1) | 39
gfetierss & &R & e favara (V) &1 ffwar o1 s1ema e o foe amifea aioy
G Wi |

You have following material :

An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 €, a key, a rheostat, a battery

of 3 V and seven connecting wires.

Using this material draw a labelled circuit diagram to study the dependence of
potential difference (V) across a resistor on the current (I) passing through it.

COEPian’s ACADEMY

We are a ‘class’ apart...
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